Model 1900 - Patient Seat Assembly

Includes Patient Seat, Arms and Shroud

SICC_045A




Model 1900 - Patient Seat Assembly

Includes Patient Seat, Arms and Shroud

Quantity Per

Iltem
Number | Note | Part Number |Description Package | Assembly

1 1147282 Seat, Patient, Lift 1 1
2 1147278 Arm, Seat, Lift - Right 1 1
3 1147277 Arm, Seat, Lift - Left 1 1
4 1147283-NLA | NLA - Support, Seat, Lift w/o Load Cell 1 1
5 1147304 Shroud, Seat, Arm 1 1
6 1147279-NLA | NLA - Bearing, Arm, Seat 1 2
7 1147372-NLA | NLA - Shoe, Brake, Bearing 1 2
8 PAR9954-NLA | NLA - Screw, Hex Head (1/4-20 x 1") 1 4
9 IHTRP1807-NLA | NLA - Locknut (1/4-20) 1 4
10 1142191 Screw, Set, Socket, Cup Point (3/8-16 x 5/8") 1 4
11 40363X000 Hex Nut (3/8"-16) 1 4
12 1153346-NLA | NLA - Washer, Flat (13/32 x 13/16 x 1/16") 1 4
13 1095483-NLA | NLA - Locknut (1/2-13) 1 4
14 A 1033800-NLA | NLA - Hook, 2" Adhesive Back 1 1
15 A 1026082-NLA | NLA - Fastener, Dual Lock 1 1
B 1147313 Belt, Lap, Seat 1 1
B 1151805 Belt, Chest, Seat 1 1

NOTE: A - Cutitem from roll into 2" by 2" square pieces (1 each).

B - Item not shown in illustration.




